
Student name:
5-minute Quiz #14

Answer these two questions:

1. A 1-kg wood log is floating on pure fresh water at a temperature of 4◦ C. The density of the log is 500
kg/m3. (a) What is the volume of the log? [2 points] (b) What fraction of the log will be submerged?
[2 points]

2. A hose of radius 8 cm and length 20 m is laying on the ground and carries a water flow of 10.0 L/s
(Note: 1 L = 10−3 m3). (a) What is the velocity of the water in the hose? [3 points] (b) What is the
pressure drop due to the Bernoulli effect if one end of the hose is raised to a height of 10 meters? [3
points]




